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1. [3 & 3 = 6 marks]
The graphs of y1 and y2 are shown on axes to y
the right. A Y
(@) Use the graph to solve the following v, 5
equations. )
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(b)  State the equation for the graph of
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2. [5 marks]

. X
Calculate where y =|x—1| intersects y:5+4.

Represent your solution on the axes provided.
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3. [5 marks]

f(x)=|x| and g(x)=|x+2|

Determine a piecewise defined expression for the sum f(x)+ g(x) and sketch
y = f(x)+ g(x) on these axes.
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4. [2,2 & 6 = 10 marks]

The graphs of y=f(x) and y=g(x) are shown.
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(@) Does f(x) possess an inverse function? Explain
No 94 mer (-1
(b)  Find '
(i) g°f(3) (iiy fog(5)
= 4(3) = | =43 = 3
(c) State
(i) the domain of g (ii) therange of f
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(iii) the maximal range of fog(x)
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(iv)  the maximal domain of gof(x)
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5. [2,2,2,1 &2 =9 marks]
The axes to the right show the graph of g(x)=+vx+4+2.

(@)  Find the value of (g-f)(1) if
f(x)=2x-5.
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(b) (i) State the range of g'(x) : e : : = : X
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(i)  State the domain of g'(x)

»

) G R

(c)  Find the defining rule for g™'(x) in simplest form.
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(d) Is g"'(x) one-to-one?
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(e)  On the axes above, add a sketch of the graph of y = g™ (x) showing the
coordinates of all relevant features clearly.



